

Ch-3 Subtraction (Do this Assignment in book or copy.)

Pg 37 78-5 56-45 Do same as Page 38, 39 Do same as.

T	O
7	8
-	5
7	3
Ans- 78-5 = 73	

T	O
5	6
-	5
1	1
Ans- 56-45 = 11	

Try these.
 74-10 = 64
 83-10 = 73
 56-10 = 46
 92-10 = 82
 64-40 = 24
 83-60 = 23

92-70 = 22 77-42 = 35
 66-3 = 63 46-25 = 21
 58-7 = 51 67-31 = 36
 48-7 = 41 83-42 = 41
 94-53 = 41 67-45 = 22

Pg 41
Try these

Fill in the blanks!

- 4 tens + 6 ones = 3 tens + 16 ones
- 5 tens + 8 ones = 4 tens + 18 ones
- 7 tens + 4 ones = 6 tens + 14 ones
- 2 tens + 2 ones = 1 ten + 12 ones
- 4 tens + 6 ones = 3 tens + 16 ones
- 8 tens + 5 ones = 7 tens + 15 ones
- 3 tens + 9 ones = 2 tens + 19 ones
- 1 tens + 8 ones = 1 tens + 18 ones
- 3 tens + 1 one = 2 tens + 20 ones

Pg-42 Try these Subtract

Do same as

T	O
3	18
4	8
-	9
3	9

T	O
8	16
9	6
-	9
8	7

Pg-43 Do same as Try these

T	O
3	13
4	3
-	9
2	4

T	O
5	12
6	2
-	7
1	5

Pg 46 Try these Fill in the blanks

- 40-0 = 40
- 66-66 = 0
- 94-0 = 94
- 15-15 = 0
- 52-52 = 0
- 28-1 = 27
- 69-69 = 0
- 36-1 = 35

- 29-8 = 21
- 47-10 = 37
- 67-30 = 37
- 86-50 = 36
- 48-26 = 22
- 63-21 = 42
- 96-44 = 52
- 75-34 = 41

3. Pg 46 2. Arrange the numbers in columns and subtract.

63-37

T	O
5	13
6	3
-	7
2	6

Ans- 63-37 = 26

70-66

T	O
6	10
7	0
-	6
0	4

Ans- 70-66 = 04

Mental Maths Pg-47

20 less than 54 is 34.

$72 - 30 = \underline{42}$.

$84 - 50 = \underline{34}$.

If $8 - 5 = 3$, then $68 - 5 = \underline{63}$.

3 tens + 7 ones = 2 tens + 17 ones.

8 tens + 0 ones = 7 tens + 10 ones.

$\underline{39} - 0 = 39$

$83 - \underline{83} = 0$

A number 1 = the previous number.

On subtracting 1 from a number, it becomes 1 more than 79. The number is 80.

Try these Pg 48 Do same as.

Ritu bought 75 pastries for the party. Out of which 56 pastries were consumed by the guests. How many pastries are left?

T	0
6	15
7	5
-	56
1	9

Ans:- 19 Pastries are left

There are 54 apple and apricot trees in an orchard. Out of these 25 are apple trees. Find the number of apricot trees in the orchard.

T	0
4	14
5	4
-	25
2	9

Ans:- 29 No of Apricot trees

Pg 49

Tick the right answer!

- 50 - 30 is equal to 10 20 30
- 90 - 80 is equal to 10 20 30
- 75 - 75 is equal to 1 0 75
- 32 - 0 is equal to 32 0 1
- 70 - 1 is equal to 0 1 69

Subtract and check your answer:-

Subtract	
T	0
6	15
7	5
-	58
1	7

Check	
T	0
1	
1	7
+	58
7	5

Subtract

T	0
5	15
6	5
-	39
2	6

Check

T	0
1	
2	6
+	39
6	5

Pg-49

Subtract and check your answer

Subtract

T	0
5	14
6	4
-	49
1	5

check

T	0
1	
1	5
+	49
6	4